Out[«]=

In[«]:=

In[«]:=

pellet radius (cm) :U: 04 diffusivity (cm?/s) :D: 10

rate constant (1/s) :G 7
0.05; overall rate = 0.07 mmol/s
- Thiele modulus = 1.02 1

— effectiveness factor = 0.94 Ca s = 0.04 mmolicm® |

”E OO it T

o i |

© |

= I |
£ 0.03- ]

c i |

ke) i |

© I )
= 0.02- :

S I |

8 | CA,s 1

@]

O | -
0.01 i 7
OO i | | | ]

8{0 0.1 0.2 0.3 0[4
r=0 catalyst pellet radius (cm) r=R

Just Evaluate Notebook!

The plot produced is surface concentration vs catalyst pellet radius. What do you notice

happen to the surface concentration as pellet radius decreases? What does that mean for the concentra-
tion at

the center of the pellet? Further, what happens to the overall reaction rate if you decrease the rate
constant?



